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1;8<�2��1�8 � /5 }llij}� �ml �0��9�@ �8 � j |��h noTp A�� �� ��2HZ?E 63 � G5 � � �}li �§ �=E 1�3@�1 3��5�7� �
�5=�683�� 1;8<�2�� �8���� =0��3�� �5;9 �8 ��51�9�3@� ��87�5?� > 3;9 �83;8� �2< 3D148@45B v�w �� �=E 1@� � /5
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p Ö×ØÖÙÚÛ Ü Ý ÚÞßØßàáÛ â
ãä å ×àÚÞæ Úçç ÖàÚÛ ß è ÙÝ Ý áàáæ Úà×éß ÚÞæ ÖÞÚàÖà ß ÙéÞ ÞßêëÙç ÚÞÙì áÞØßÞß ßÞßèí îï
ð ä ñ ÚÛÛá×ß ÞÚïïÚ ß è éÙçÛ ÖÙàÚàìé T òóæ éØà àîôòÙì õ Øéö ×ßÛ òé÷ Þéæ éàîÞà ø Ý ÚÞêáïàîÙß ù úóó Úç Û Öè ÚÙà æ ÚÛÛ á×ß
×áæ ÞîÙà í ÚÞÚïà ß û üÚÙ õ ÙÚÚéïý øù

þ ä ÿ ß ß ��� Û ßæ Ú×ß
1536× 1024

è é� ÚÞêìÞ îÞ ÞÜ ÖÙ ß Þîà÷æ Úçì
29′× 18′

Ü ßÛÛ á× æ ÚÛÛ á×ß Úý� è é� ÚÞó Úç àß×àáç ÷
Ý ÚÞêáïàîÙ ù

û ä ñ éïØ ßç � �� ðãð� æéïØ ßç ñ ��üÚÙ Ý ÚÞôÖàÚÞÚÛ è ÙÝ Ý áàáæ Úà×éîí îà ôÖý Úçç ÖàÚÛ ÚÞ ß ÙéÞ ÞßêëÙç ßÞßèí îï �
	 ä o è ÙÝ Ý áàáæ Úà×éß Ùá×îï ßç éÞ ÞÚÙç àÖÙÚÛó Úç àß×àáç÷ éÞ ÞÚÙç àÖÙé ó éêîÛ ßà 
×í îàáÛ Ý ÚÞä ÿ ß ßëàáüêßï òÙéïîÞí îàáÛ ß
Ý �ýý ôÖï� éÞ ÞÚÙç àÖÙÚÛ ÚàÜ ßÛÛ á× 
×í îàáÛ Ý ÚÞ ßçà éÙÜ ó áý� æ ÚÞ� éÛ Ý �ýýôÖï�à éÞ ÞÚÙç àÚààÚ ßç qroU ôÖý� ÞéÙÜ éÞ ÞÚàôÚ
ßç àÜ ó áý� ó îï� òÙéÞ Þßý ×ß òÙéïîÞàîàáÛ ßç éÞ ÞÚÙç àÖÙàä

� ä o Û ßè áàà Û Öè ÚÛïÖÞ ß ÞÖà×Úí �àà 
� � Û Öè ÚÛ Úà ïÖçç ÖàÚÛ îàä úç ÚÛ ßç áÛ Ü ßæ ÚÞ�ÚÛ ßç Ú×ÚØÚàé Û Öè Úà æëàßàí îÛ æ Úý
ß è ÙÝ éÞ ÞÚÙç àÖÙÚÛ ÖÙ ÞÚôáïîÙáÛ ëàîï ä ÿ ß ß ôÖý Ú×ÚØæ Öï� Û Öè Úý� Ùç Öè ó áæ áý Öï ÚÞáÙç ÞîÙ� Û Öè Ü ßÛÛ á× í ÷ ß
è ÙÝ Ý áàáæ Úà×éßä
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}�� !"h� ��j ¨km�~ # ¨¨ ¨| �ihl}� ¨ $ § ¨ §# ¨¨ ¨ � ¨ $ §¨ �ml� ¨ %#
h� ��j ¨km�~ # ¨¨ ¨��lk}�� h is ¨ ¨# ¨¨ ¨ �� ¨ $ §¨ �ml� ¨ %#
h� ��j ¨km�~ # ¨¨ ¨|}j}h}� i �s���h is{ ¨$& ¨# ¨¨ ¨ �� ¨ $ §¨ �ml� ¨ %#
h� ��j ¨km�~ # ¨¨ ¨|}j}h}� i �i��� }{ ¨$� ¨# ¨¨ ¨ �� ¨ $ §¨ �ml� ¨ %#
h� ��j ¨km�~ # ¨¨ ¨|}j}h}� i �|}j}� ��{ ¨$�'(�$� ¨# ¨¨ ¨ �� ¨ $ §¨ �ml� ¨ %#
h� ��j ¨km�~ # ¨¨ ¨|}~h}�i �h is�}|{ ¨� �­�$& ¨# ¨¨ ¨ �� ¨ $ §¨ �ml� ¨ %#
h� ��j ¨km�~ # ¨¨ ¨|}~h}�i �s�� mj �~�{### ¨� ~ss}j�­###¨¨ ¨# ¨¨ ¨ �� ¨$ §¨ �ml� ¨ %#
h� ��j ¨km�~ # ¨¨ ¨|}~h}�i ��}�~�|k{ ¨� ¨# ¨¨ ¨ �� ¨ $ §¨ �ml� ¨ %#
h� ��j ¨km�~ # ¨¨ ¨|}~h}�i �s�j�}|{ ¨� �)�$& ¨# ¨¨ ¨ �� ¨ $ §¨ �ml� ¨ %#
h� ��j ¨km�~ # ¨¨ ¨|}~h}�i �� i}���l{ ¨­ ¨# ¨¨ ¨ �� ¨ $ §¨ �ml� ¨ %#
h� ��j ¨km�~ # ¨¨ ¨h is �� }j m���{�ki¨ ¨# ¨¨ ¨ �� ¨ $ §¨ �ml� ¨ %#
h� ��j ¨km�~ # ¨¨ ¨h is �h ijs�lk{###¨|ks}�lj###¨ ¨ ¨# ¨¨ ¨ �� ¨ $ §¨ �ml� ¨ %#
h� ��j ¨km�~ # ¨¨ ¨h is ���jk�}m{�ki¨ ¨# ¨¨ ¨ �� ¨ $ §¨ �ml� ¨ %#
h� ��j ¨km�~ # ¨¨ ¨h is ��� }�k{###¨¨$§¨###¨¨ ¨# ¨¨ ¨ �� ¨ $ §¨ �ml� ¨ %#
h� ��j ¨km�~ # ¨¨ ¨h is ��k� �s�{�~ ¨ ¨# ¨¨ ¨ �� ¨ $ §¨ �ml� ¨ %#
h� ��j ¨km�~ # ¨¨ ¨h is ��h|}jk{�~ ¨ ¨# ¨¨ ¨ �� ¨ $ §¨ �ml� ¨ %#
h� ��j ¨km�~ # ¨¨ ¨h is ��k��~ik{�~ ¨ ¨# ¨¨ ¨ �� ¨ $ §¨ �ml� ¨ %#
h� ��j ¨km�~ # ¨¨ ¨|}~h}�i �i}���l�{ ¨� �)�$& ¨# ¨¨ ¨ �� ¨ $ §¨ �ml� ¨* !#
�� k  �h}�i � h is ����
m�� ~| (­­ h is ����
� h is ����
�� h is ����

¡=�H��� > H�2< �5 �2< �}i� �0��9� > � �1< �2< }�� 9���80��� �����1� �5 � /5 }�� 9���80� �5 �� k  �h}�i Þáý+ ÞÚ�1�9E =8 2<=�� 1� 3;9 �83;8� �2< � �ml� 8�?: �=E 1� > �� �1< �61�E 7�83;99�8 �2< qroU �0��9� 1��5 � ¡=�H����8 �
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�2<A3;� 7�12�� �

¡�2�1B�54� � 3;9 �� 3����5� �5 tA�� ���� �A@ � � G5�3 6�=8 3��7E � � �E 7 �5 qroU A@�8 � 34?��3�5B 9���80��� �
�� lk}�� h is � G55�1 � 9���800��1 > H�2< ��lk}�� 1�H�� � �87�8 qroU noTp A@�8 3��4�418� � �87�8 3��=@@�
@ �=11Z�=�� ;� �5 �1�9@�=11Z�=��� =11Z��8� � �87�8� � G5 �5 �1B�� � �2Z�� h �hkl��kA�38=1 �67 8�2<�8 H��58�� 1�88� >
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/ �0��9� � ?;2;8 �6����=�� E �2�� �7 � 1;���H�5��� h is ���� 8�?: �=E 18�3 > �5� 1� �� �6����E � > �11��?� �42�48
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¨i�� �� }�k{|ks}�lj ¨ . ¨s���h is{ ¨$& . ¨i��� }{ ¨$� . ¨|}j}� ��{ ¨$�'(�$� .#¨s�� mj �~�{� ~ss}j ¨�­ . ¨�}�~�|k{ ¨� . ¨h is�}|{ ¨� �)�$& . ¨s �j�}|{ ¨� �)�$& .#
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